EASY RISER (WEAPON /RAVEN)|

Included: ©e®® ’
(2) 3/8-16 captured screw h
® @ @

EASY RISER TOP EASY RISER BOTTOM

@

> 0@o@®
®

®

o 000®®

INSTALLATION
1. locate and align the two 3/8-16 HOLES on bottom of 2. Select 3/8-16 SCREWS, tighten EASY RISER to
CAMERA and EASY RISER TOP. CAMERA with screwdriver.
::l
@ @®
) ®© @@ ®
I - | | olg]e . 1
L / T
:I: 000000 ©®©®® i

© Wooden Camera, Inc. 2011-2015

EASY RISER (WEAPON /RAVEN)|

Included: @ ® ®® ®
(2) 3/8-16 captured screw h ®
P @
@ ® @ CHNONC)
e ®
EASY RISER TOP
INSTALLATION
1. locate and align the two 3/8-16 HOLES on bottom of 2. Select 3/8-16 SCREWS, tighten EASY RISER fo
CAMERA and EASY RISER TOP. CAMERA with screwdriver.
— — _1:1\—\
@ @® @® @
e eQe@e « @?@?@ ©
» @® ] @ @® @
B =) U 11

© Wooden Camera, Inc. 2011-2015



